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The figures in the right hand side margin indicate full marks.
Candidates are required to give their answers in their own words as for as practicable.
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1. Answer any five of the following questions:
e @ @ hfo et Ter Wi

a)

b)

c)

d)

e)

f)

9)

h)

What is argument?

e T AT

When an argument is called as valid?
U @ Yo i34 =70

What is figure of a syllogism?

TR AL FICF ACT?

What is categorical proposition?
e a5 I T2

What is existential import?
SRgTEFeIR 7 F6Ce I @RIR?
What is meant by distribution of a term in a proposition?
AR el T I (@RI?

What purposes do truth tables serve?
TOPIRAR F& F1?

What is deductive logic?

AR (G I 017

2. Answer any four of the following questions:
fsfeife @ i o136 e Teq mie:

a)

b)

c)

d)

Is simple conversion of *A’ proposition possible? Explain.

‘A’ T6CR I S (5 78?2 G F 1

What is opposition of propositions? Is sub-alternation a real opposition? Discuss.
e e I e oy et i e Fafiern e F91
Explain with the help of an example why ‘O’ proposition cannot be converted?
TR AR [ T @ ‘0I5 S HI 732

What is the fallacy of illicit Minor? Give an example.
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2x5=10
5x4 =20
2+3



f)
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Use truth tables to determine whether the following statement forms are tautologous or self
contradictory or contingent: 2.5+2.5
i (p9)>(po-0)
i, [(p-g)2r] =[p>(q>r)]
TP afod TR ke IpaeRe Fo79, Tofi e aifes [ F=:
I (p-a)>(p>~0)
i, [(p.a)>r] =[p>(q>r)]
What is meant by 'Existential Fallacy’? Explain with example.
SRGLTS (AT PICF T2 VBIS 7S |

Answer any one of the following question: 2x5=10
fsfeife @ @ 97 avas Tea me:

a)

b)

What is opposition of propositions? Explain various types of opposition of propositions. 2+8
e Reafe! FiE T e [Efgor (o avmefs aEma 341

Use Venn diagrams to determine the validity of the following arguments: 5+5
ceAibtEs AR oo el e fom s

i. All flowers are beautiful, some pictures are beautiful, therefore some pictures are
flowers.

1 1 e fog fow =@ e, Toai feg oa =1 T
ii. This syllogism cannot be invalid,forit has three terms like all valid syllogism.
@3 T SN0 7Y T 2 2 A, FIH (34 WA Tcol 978 foqs #w =iez |

Use truth table to determine the validity of the following arguments: 5+5

i) PD(QDR)
1:QD (P DR)

i) (PO Q). (RDQ)
PVR

/- Q
TePRAE AR ke Jfeulm taael fvm Fe
i) PD(QDR)
/+:QD (P DR)
i) (P2 Q). (ROQ)
PVR
I+ Q



